
 

Friday 26th June 2020 

I am learning to calculate area and perimeter 

 

We want you to draw a square in which the perimeter is 
numerically equal to the area.  

 

Of course, the perimeter will be measured in units of length, 
for example, centimetres (cm) while the area will be measured 
in square units, for example, square centimetres (cm2 ). 

What size square will I need to draw? 

Now try drawing a rectangle that has a length twice as 
long as it’s width, which still has a perimeter numerically 
equal to its area? 

Remember trial and error should show all your attempts even 
if they are not the solution. 

 


